

03/19/2021

Vendor Ranking

Page 1 of 1

Letting: 08210309 March 09, 2021 02:30 PM **Call Order:** 003 **Contract:** E8T04-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 19077445210 (*)

Contract Desc: GUARDRAIL REHABILITATION - ZONE 1

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Winning bid	\$132,502.12	100.00% Intent to AV
2	M&P GUARDRAIL INDUSTRIES, LLC	Responsive	Non-Winning Bid	\$170,750.00	128.87%
3	COMPLETE HIGHWAY IMPROVEMENT IN	Responsive	Non-Winning Bid	\$249,612.00	188.38%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MARCH 23, 2021 4:00 PM





Tabulation of Bids

Page 1 of 4

Letting: 08210309 March 09, 2021 **Call Order:** 003 **Contract:** E8T04-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19077445210 (*)

Contract Descr: GUARDRAIL REHABILITATION - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to furnish and install new sections of guardrail with all associated components including the removal of old guardrail, and miscellaneous asphalt pavement at various locations on the Florida's Turnpike Mainline (SR 91), MP 0.0X to 100.0, Homestead Extension of Florida's Turnpike, Milepost (MP) 0.0 to 46.5, and Sawgrass Expressway, from Mile Post (MP) 0.0 to MP 22.4.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate (Quantity Units	(1) SOUTHEAS GUARDR	AIL &	(2) M&P GU INDUSTRI			TE HIGHWAY EMENT IN
() indicates item is bid as Lump Sum		ATTENUATO Unit Price	DRS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASF	PHALT REI	PAIR (MANUAL) (TI	N				
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	100.000 TN	0.01000	1.00	100.00000	10,000.00	180.00000	18,000.00
0010 0536 1 1 2 GUARDRAIL -ROADWAY, GENERAL TL-3	2,500.000 3 LF	28.00000	70,000.00	19.00000	47,500.00	25.00000	62,500.00
0015 0536 1 3 GUARDRAIL- ROADWAY, DOUBLE FACE	300.000 E LF	21.00000	6,300.00	18.00000	5,400.00	25.00000	7,500.00
0020 0536 7 1 SPECIAL GUARDRAIL POST- DEEP POST FOR SLOPE BREAK CONDITION- TIMBER OR STEEL	10.000 EA	70.00000	700.00	60.00000	600.00	100.00000	1,000.00





Tabulation of Bids

Page 2 of 4

Letting:	08210309	March 09, 2021	Call	Order: 003		Contract:	E8T04-R0	
Line No / Item Item Descripti		te Quantity Units	(1) SOUTHEAS GUARDR	AIL &	(2) M&P GU INDUSTR			TE HIGHWAY EMENT IN
() indicates item	is bid as Lump Sum		ATTENUATO Unit Price	DRS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(ASPHALT REP	PAIR (MANUAL) (T	N				
0025 0536 7 2 SPECIAL GUARD STEEL POST FOR STRUCTURE MOD	RAIL POST- SPE	15.000 CIAL EA	158.00000	2,370.00	100.00000	1,500.00	200.00000	3,000.00
0030 0536 7 3 SPECIAL GUARD POST FOR SHALL	RAIL POST- ENC	20.000 CASED EA	44.00000	880.00	60.00000	1,200.00	100.00000	2,000.00
0035 0536 81 GUARDRAIL TRA TO RIGID BARRIE 001, APPROACH	NSITION CONNE R, F&I- INDEX 5		1,590.00000	23,850.00	2,100.00000	31,500.00	2,500.00000	37,500.00
0040 0536 812 GUARDRAIL TRA TO RIGID BARRIE 002, APPROACH	NSITION CONNE R, F&I- INDEX 5:		547.00000	4,376.00	1,500.00000	12,000.00	3,200.00000	25,600.00
0045 0536 73 GUARDRAIL REM	OVAL	2,500.000 LF	0.01000	25.00	1.50000	3,750.00	10.00000	25,000.00
0050 0536 85 : GUARDRAIL END TRAILING ANCHO	TREATMENT-	15.000 EA	800.00000	12,000.00	1,200.00000	18,000.00	1,500.00000	22,500.00
0055 0536 85 3 GUARDRAIL END PARALLEL APPRO	TREATMENT-	15.000 EA	800.00000	12,000.00	2,300.00000	34,500.00	3,000.00000	45,000.00
0060 E101 1 MOBILIZATION	1	12.000 LO	0.01000	0.12	400.00000	4,800.00	1.00000	12.00



03/19/2021

Tabulation of Bids

Page 3 of 4

Letting:	08210309	March 09, 202	1 C a	all Order: 003		Contract:	E8T04-R0				
	ine No / Item ID Alternate Quantity em Description Units		(1) SOUTHEAST HIGHWAY GUARDRAIL &		(2) M&P GUARDRAIL INDUSTRIES, LLC		(3) COMPLETE HIGHWAY IMPROVEMENT IN				
•	m is bid as Lump Su		ATTENUA Unit Price	TORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SECT	SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN										
0001 ASPHALT REPAIR Section Totals: (MANUAL) (TN)			\$132,502.12		\$170,750.00		\$249,612.00				
	(
	Contract	Grand Totals:		\$132,502.12		\$170,750.00		249,612.00			



03/19/2021

Tabulation of Bids

Page 4 of 4

Letting: 08210309

March 09, 2021

Call Order: 003

Contract:

E8T04-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.